Приложение 1
Ответы к задачам

	Номер задачи, ответ
	Номер задачи, 
ответ
	Номер задачи, ответ
	Номер задачи, ответ

	1.1. 1,5
	2.1. 980 мл воды, 20г 
	3.1. 2,5мл; 2,5мл; 1,25мл
	4.1. 6кг 300г

	1.2. 25%
	2.2. 950 мл воды; 50мл 10% раствора
	3.2. 0,5 мл; 5мл  
	4.2. 8кг 500г

	1.3. 4
	2.3. 475 мл воды; 25г хлорамина
	3.3. 0,2 мл; 0,2 мл; 6ч
	4.3. 60см

	1.4. на 100%
	2.4. 8л воды; 2л 10% раствора
	3.4. 0,5 мл
	4.4. 72 см

	1.5. 2425 руб
	2.5. 5% раствор
	3.5. 3 флакона; 0,5 мл; 12ч
	4.5. достаточно

	1.6.  540р; 96р;  150р
	2.6. 9% раствор
	3.6. 200000ЕД; 1,25 мл
	4.6. 40г; 160г

	1.7. 288р
	2.7. 17мл; 3г 
	3.7. 5мл; 3,5 мл
	4.7. 0,5 мл

	1.8. 57%; 45%; 31%
	2.8. 4,5г
	3.8. 0,6 мл
	4.8. 1,25 мл; 1 мл

	1.9. 3г; 37,5г
	2.9. 666 мл воды
	3.9. 0,4 мл
	

	1.10. 37,5г
	2.10. 13%
	3.10. 30 ЕД
	

	1.11. 5%
	2.11. 3,3%
	
	

	1.12. 40%
	
	
	











